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Multiplication (Vertical) Name:

Solve each problem. Answers
1y 1,455 2) 1,763 3 9.638 4 4,822 X
X 19 61 63 X 19 '
2.
3.
4.
5) 7.260 © 4869 7 2535 9 2.020 i
x 24 91 77 X 96 '
6.
7.
8.
9) 1,323 10 7.226 11 9.629 12 4,405 .
x 24 26 25 % 28 '
10.
11.
12.
13) 2235 14) 8,555 15 5239 16 2.084 .
x 45 56 68 x 60 |
14,
15.
16.
17) 6,828 18 7782 19) 2917 20 1,365 .
x 08 30 65 X 49 '

18.

19.

20.
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5)

9)

13)

17)

Multiplication (Vertical) Name: Answer Key
Solve each problem. Answers
2) 3 4)
1,455 1,763 9.638 4,822 . 27645
X 19 X 61 X 63 X 19
13,095 1,763 28.914 43,398 » 107,543
+ 14,550 + 105,780 + 578,280 + 48,220
27,645 107,543 607,194 91,618 3 _ 607,194
. 91618
6 7 8
7.260 ) 4,869 ) 2.535 ) 2.020 . 174240
x 24 x 91 x 77 x 96
29,040 4,869 17,745 12,120 |l 443,079
+ 145,200 + 438,210 + 177,450 + 181,800
174 240 443,079 195,195 193,920 |7 195195
8 193,920
10 11 12
1,323 ) 7.226 ) 9.629 ) 4,405 . 31752
X 24 X 26 X 25 X 28
5,292 43,356 48,145 35,240 0 187,876
+ 26,460 + 144,520 +192,580 + 88,100
31,752 187.876 240.725 123,340 1. 240,725
1 123340
14 15 16
2235 ) 8,555 ) 5,239 ) 2.084 s 100575
X 45 X 56 X 68 x 60
11,175 51,330 41,912 125,040 1 479,080
+ 89,400 + 427,750 + 314,340
100,575 479080 356,252 15, 356,252
16, 125,040
18 19 20
6,828 ) 7,782 ) 2.917 ) 1,365 o 669144
X 98 X 30 X 65 X 49
54,624 233,460 14,585 12,285 18 233,460
+ 614,520 + 175,020 + 54,600
669,144 189,605 66,885 10. 189,605
o0 66,885
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